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QUESTION 1

What happens when a split-brain occurs and I/O fencing is disabled? 

A. All nodes are placed in jeopardy membership. 

B. All service groups are autodisabled. 

C. Nodes on each side of the split try to bring service groups online. 

D. Any available network interface is automatically added as an LLT link. 

Correct Answer: B 

 

QUESTION 2

A multi-tier application has Oracle at the first level and WebSphere at the second level, which depends on the Oracle
application. The Oracle and the WebSphere service groups are configured in two separate clusters. The administrator 

wants the following fault behavior: 

when the Oracle service group faults, the WebSphere service group should stay online. 

when the Oracle service group comes back online, the WebSphere service group should be taken offline and brought
back online 

Which type of dependency must the administrator configure to acquire the desired behavior? 

A. virtual business services with retry type of fault dependency 

B. virtual business services with an online global firm dependency 

C. virtual business services with firm type of fault dependency 

D. virtual business services with restart type of fault dependency 

Correct Answer: D 

 

 

QUESTION 3

An installed cluster has been licensed with the keyless licensing option. The administrator has yet to configure the
cluster to be managed by Veritas InfoScale Operations Manager (VIOM). What will happen when 60 days have passed
since installation? 

A. The cluster will shut down. 

B. The cluster will log messages related to licensing. 

C. The cluster will disallow administrative changes until licensed. 
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D. The cluster will cease to respond if a resource faults. 

Correct Answer: B 

Reference: https://www.veritas.com/support/en_US/doc/123015445-123015449-0/br72_wxrt-
tot_v55825087-123015449 

 

QUESTION 4

During a Veritas Cluster Server startup procedure, GAB fails and the administrator receives the following message: 

vcs:11032 registration failed. Exiting 

Which two files should the administrator check to ensure proper configuration? (Select two.) 

A. main.cf 

B. gabtab 

C. inittab 

D. vxfentab 

E. llttab 

Correct Answer: BE 

Reference:
https://www.veritas.com/content/support/en_US/doc/129672940-129672943-0/uxrt-731_v25097594-129672943 

 

QUESTION 5

What is the purpose of the Steward process in a global cluster? 

A. to provide a backup communication link on each cluster in a global cluster configuration that takes over heartbeating
in the event that the wide-area connector (WAC) faults 

B. to monitor the wide-area connector (WAC) processes on each local cluster on a global cluster configuration and
ensure heartbeats are being sent 

C. to monitor the wide-area connector (WAC) processes on each local cluster on a global cluster configuration and
restart the wide area connector (WAC) process if they fail 

D. to provide an inquiry mechanism for each local cluster in a global cluster configuration and determine the state of
other clusters if heartbeats are undetected on the wide-area connector (WAC) 

Correct Answer: B 

Reference: http://static-sort.symanteccloud.com/public/documents/sf/5.0/windows/pdf/VCS_Admin.pdf 
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